oy | Gee | Gd

6433 - 1643 =
3000 + 24 =
4+(2x7)=
_ =755-241
1753 x 34 =

-6 +16 =

Write 1641 in Roman
Numerals =

4.3 x6=
Find 15% of 650ml =
43 - 4% =

17543 - 4724 =
8262 +34 =
54—-(4x3)=
__=1754-764
4532 x 56 =

-13+ 24 =

Write 3699 in Roman
Numerals =

6.4x7 =
Find 45% of 650ml =
63 _ 82 —

86333 -7431 =
11070 + 45 =

142 + (8 x9)—45 =
_ =7542-1543
27542 x 74 =

-65 + 84 =

Write 4956 in Roman
Numerals =

6.9x11=
Find 51% of 650ml =
73 _ 92 —



6433 — 1643 = 4790
3000 +24 =125
4+(2x7)=18

514 =755 -241
1753 x 34 = 59602
-6+16 =10

Write 1641 in Roman
Numerals = MDCXLI

43 x6=25.8
Find 15% of 650m| = 97.5ml
43 - 4% =80

17543 — 4724 = 12819
8262 + 34 = 243

54— (4 x 3) = 42

990 = 1754 — 764
4532 x 56 = 304192
13 +24=11

Write 3699 in Roman
Numerals = MMMDCXCIX

6.4x7=44.38
Find 45% of 650m| = 292.5ml
6° - 8% =152

86333 — 7431 = 78902
11070 = 45 = 246
142 + (8 x 9) — 45 = 169
5999 = 7542 - 1543
27542 x 74 = 2038108
.65 + 84 =19

Write 4956 in Roman
Numerals = MMMMCMLVI

6.9x11=75.9
Find 51% of 650m| = 331.5ml
7°-9% =262



